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Question Number : 1 Question Id : 16794313714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Energy is related to Joule in the same way as Force is related to:
Options:

1.« Newton

» % Kilogram

3 % Seconds

4 ® Meter

Question Number : 1 Question Id : 16794313714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.¢ TR

o % TholaTH
3 % HPS

Question Number : 2 Question Id : 16794313715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.
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Question Number : 2 Question Id : 16794313715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 16794313716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the odd figure in the series.
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Question Number : 3 Question Id : 16794313716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % A
2_5&5
z ¢ C

4% D

Question Number : 4 Question Id : 16794313717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd figure in the series.
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Options:

Question Number : 4 Question Id : 16794313717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 16794313718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd figure in the series.
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Question Number : 5 Question Id : 16794313718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % A
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4 ¢ D

Question Number : 6 Question Id : 16794313719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following bar chart shows information about NTSE pass out percentage for “XYZ” institute for past years. Read the
chart carefully and answer the question
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In which vear more than 100 NTSE passed from “XYZ’
Options:

1 % 2011

> % 2016

5 % 2009

4 « 2010



Question Number : 6 Question Id : 16794313719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 2011
., % 2016
- = 2009
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Question Number : 7 Question Id : 16794313720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the answer figure in which the question figure is embedded/hidden.
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Question Number : 7 Question Id : 16794313720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 16794313721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following information carefully to answer the question given below

Following are the qualifications and conditions for certain posts in a “XYZ" company, The candidate must
a) be an engineering graduate with at least 70% marks

b) be not less than 21 years and not more than 26 years of age as on 01/04/2018

c) have passed the written test with at least 60% of marks

d) be willing to pay a deposit of Rs.2.5 lacks. to be refunded on completion of probation & training

If the candidate is satisfied with (a)-(e) would be referred as Engineer.

However if the candidate is satisfied with all the above except

(1) at (a) but appeared final semester exam result vet to be declared with 75% average marks up to seventh semester be
referred as Project-Engineer

(ii) at (a) but has done diploma in engineering with 75% of marks be referred as Asst. Engineer

(iii) at (d) be willing to pay Rs.1.5 lakhs as security deposit he referred as Engineer-Trainee

(iv) at (b) even if age above 26 years age as on 1/4/18 but with 3 years of experience be referred as senior-Engineer
Shashank has completed Diploma in Engineering with 76% of marks. he also has cleared written test with 62% of
marks. He is completed 22 years of age as on April 2018. He is also willing to pay security deposit of 2.5 lakhs. For
which position he will be referred

Options:

, = Project - Engineer

-~ » Engineer - Trainee

5  Asst. Engineer

4 = Engineer

Question Number : 8 Question Id : 16794313721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 16794313722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
While you are playing in the park, vou find a lady’s diamond necklace dropped on the ground, without notice she went
away on her car. You would:
Options:
Take the necklace away

B8

> % Sell the necklace to someone else to cash it



s  Deposit at the nearest police station

4 = Leave it there and carry on to your work

Question Number : 9 Question Id : 16794313722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 16794313723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How the pattern would appear when the transparent sheet is folded at the dotted line?
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Question Number : 10 Question Id : 16794313723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 16794313724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A cat always has y

Choose the mandatory aspect:
Options:

1 % Bell

- % Belt

= #% Master

4 +« Heart



Question Number : 11 Question Id : 16794313724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 16794313725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following carefully and answer the given question.

a Actors

Cirectors w

Singers
Which region denotes Directors, who are also Actors but not Singers?

Options:

-

o of 2

Question Number : 12 Question Id : 16794313725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 16794313726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sangita is mother to Sumati. How is Sumatis father’s mother related to Sumati?

Options:
1 « Grand mother

- % Mother in law
5 # Sister

4 = Daughter

Question Number : 13 Question Id : 16794313726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 16794313727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If A stands for +, B stands for —, C stands for %, then what is the value of (12C10)A(6C2)B47

Options:
1 ® 156

> % 130

Question Number : 14 Question Id : 16794313727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 156
. % 130
2« 128

L % 148

Question Number : 15 Question Id : 16794313728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If you write down all the numbers from 1 to 100, then how many times do you write 77
Options:

1&-&25
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Question Number : 15 Question Id : 16794313728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 16 Question Id : 16794313729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four years ago, the ratio of the ages of Madhavi and Manasa was 2 : 1 five years hence, the ratio of their ages will be
3 : 2 what is Manasas age at present?

Options:

2.;_;-"13

Question Number : 16 Question Id : 16794313729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 17 Question Id : 16794313730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd pair of words.

Options:
1 % Ohmmeter : Resistance

> « Potentiometer : Potential

- w voltmeter : Voltage

4 ® Ammeter : Current

Question Number : 17 Question Id : 16794313730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 18 Question Id : 16794313731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd pair of numbers.

Options:
i, - 6.4

o % 8.2



Question Number : 18 Question Id : 16794313731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e A1 & oA & Ia1 T

Options:

1.'%36--":1

. 8. 2

Question Number : 19 Question Id : 16794313732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the question mark in the series 6, 12. 36, 7, 720

Options:
1« 144

> % 160

Question Number : 19 Question Id : 16794313732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

6, 12, 36, 7, 720 & aufr & meafaf@a # ¥ w37 Foeg & ugg= +:{1
Options:

| o 144

5 % 160

z % 125

g ® 93

Question Number : 20 Question Id : 16794313733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Identify the question mark in the series U. P.L. 2. G

Options:
1 ® E

o of 1
3_&3B

4.<:-’¢'-R

Question Number : 20 Question Id : 16794313733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® E
> o |
3z % B
g4 ® R
Gereral Awarerness
Group Number : 2
Group Id : 167943455
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awareress
Section Id : 167943520
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions; 20



Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943863
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794313734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following was the founder of Satvahana dynasty?

Options:
1 % Rudradaman

> % Pulumavi
- % Satakarni—I

4 « Simuka

Question Number : 21 Question Id : 16794313734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % TRcHd

Question Number : 22 Question Id : 16794313735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the capital of Pallavas?

Options:

Pragjvotishpura

1.9



> « Kanchi
z % Madurai

4 # Thanjavur

Question Number : 22 Question Id : 16794313735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 23 Question Id : 16794313736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Who among the following was NOT involved in the Kakori conspiracy of 19257
Options:

, » Ramprasad Bismil

-  DBhagat Singh

- u Ashfaqulla Khan

4 % Chandrasekhar Azad

Question Number : 23 Question Id : 16794313736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 16794313737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is India’s rank in the countries producing wheat?

Options:
1 % frst

> o second
3 % third

4 % fifth

Question Number : 24 Question Id : 16794313737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 & 9YUH
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Question Number : 25 Question Id : 16794313738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The winds blow in a belt lying between 5°N-30°N in the northern hemisphere and 5°$-30°S in the southern hemisphere
are called:

Options:

. w Westerly winds



> o Trade Winds
z % Chinook

4 % Sea-breeze

Question Number : 25 Question Id : 16794313738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 26 Question Id : 16794313739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Under which article is the President of India empowered to declare a national emergency?

Options:
1 % Article 370

- % Article 356
= % Article 360

4 « Article 352

Question Number : 26 Question Id : 16794313739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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- 3@%‘:{ 356
- 34?_—13%‘:: 360

e 34?_—13%‘:: 352

Question Number : 27 Question Id : 16794313740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which article of the Constitution of India bestows upon the President the power to grantpardons, reprieves, respites
orremissions of punishmentor to suspend. remit or commute the sentence of anyperson convicted of any offence?

Options:
1 % Article 56

- % Article 71
3 o Article 72

4 % Article 76

Question Number : 27 Question Id : 16794313740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 28 Question Id : 16794313741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Under his/her power, the speaker of Lok Sabha can ask a member of the house to yield the floor, that is,
stop speaking and let another member speak.




Options:

, « Regulatory

- # Supervisory

z % Executive

4 % Miscellaneous

Question Number : 28 Question Id : 16794313741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 29 Question Id : 16794313742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following statements regarding ‘Ayushman Bharat — National Health Protection Mission’ is NOT
correct?

Options:
, w The scheme has the benefit cover of < 5 lakh per beneficiary family per year.

2. %
Will subsume the on-going centrally sponsored schemes — Rashtriva Swasthya BimaYojana (RSBY) and the Senior
Citizen Health Insurance Scheme (SCHIS).

it

A beneficiary covered under the scheme will be allowed to take cashless benefits from any public/private empaneled
hospitals across the country.

4 « The beneficiaries can avail benefits in only government / public hospitals.



Question Number : 29 Question Id : 16794313742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 16794313743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many banks were nationalized by the Indian government in the year 1969?

Options:

1 % 12
o> R 10

3_;_/‘14

Question Number : 30 Question Id : 16794313743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1969 ¥ 8Rd TIHR ZaART Tohdel dehl I TSEIApd fehaT AT AT?

Options:

1 ® -12

> R -10
z o 14

g ® 19



Question Number : 31 Question Id : 16794313744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where is the UNESCO World Heritage Site, Hampi, located?

Options:
1 « Karnataka

> % Andhra Pradesh

5 » lelangana

4 % Tamil Nadu

Question Number : 31 Question Id : 16794313744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UNESCO Fr farT uiigT Td, &7 Far Tug 272

Options:

|« FAEH

- ® 3-IT%T‘§1T':‘[3T

Question Number : 32 Question Id : 16794313745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where is the famous “Sangai Festival® celebrated?

Options:
1 % Arunachal Pradesh

-~ » Nagaland

5 « Manipur

4 % Assam

Question Number : 32 Question Id : 16794313745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

gfieg '‘@ee $iEead &g 341 ST 272
Options:

| % STEUMES 9er

4@&3‘]@

Question Number : 33 Question Id : 16794313746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Warli’ painting belongs to which of the following states?

Options:
; = Chhattisgarh

> % Bihar

- = Gujarat

4 « Maharashtra

Question Number : 33 Question Id : 16794313746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR g AT U=l # ¥ B ¥ gt 22
Options:

1 ® E:*-EE HHE.

) v FEE

Question Number : 34 Question Id : 16794313747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Who won the World Badminton Championship (in the Women’s Category) held in Nanjing in August 20187
Options:
1 % Saina Nehwal

> % PV Sindhu
z « Carolina Marin

4 % Aparna Popat

Question Number : 34 Question Id : 16794313747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IFTET 2018 H AT H FAfaa g d=fies IRw=ft (Afger aofr &) Fas sar

Options:

| % WIS FgAT

L, A Ry

ggmmﬂﬁﬁ
4 % HYOT 99T

Question Number : 35 Question Id : 16794313748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which committee has been set by the Sports Ministry to suggest measures to tackle the menace of doping in the
country?

Options:
, = Injeti Srinivas Committee

- » Rajyavardhan Rathore Committee

5 « Mukul Mudgal Committee

4 # S.Bindra Committee

Question Number : 35 Question Id : 16794313748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& # ST & @ ¥ e & 39 & e & & v @ Ao F wia @ @At vl froge



Options:

|« 3o AfaEre st

. » U=aggs ek wfafa

d
Hepel Hezrer wiafa

3 ¥ 2

4 R vy, fagr wfafa

Question Number : 36 Question Id : 16794313749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With increase in altitude. atmospheric pressure

Options:
1 « decreases

- % Increases
% % remains constant

, = firstincreases, then decreases and keeps fluctuating

Question Number : 36 Question Id : 16794313749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

a5 # 3 F WY, IYASAY gae [
Options:

v BHE AR

5w TR @A E

Question Number : 37 Question Id : 16794313750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When is the International Youth Day observed by the United Nations?

Options:



1 % & March

5 of 12 August

s # O September

4 w 11July

Question Number : 37 Question Id : 16794313750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hed T°¢ EaRT ey a1 fead &8 #arar Fer 872

Options:

1 ® Sm'él'

o B 5%?@'{
. 11 oS

Question Number : 38 Question Id : 16794313751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has been appointed as the Chief Operating Officer (COO) of ICICI Bank?

Options:
, % Ms. Arundhati Bhattacharya

> % Mr K.V. Kamath
%z % Ms. Naina Lal Kidwai

4 « Mr. Sandeep Bakhshi

Question Number : 38 Question Id : 16794313751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FRAINSE IR 8F F A i dfrey (F@atat) & = 7 5w Fgwa B mr 22

Options:



. A, oudT sEEE

. &, ST, FHY

[
5

. A e o farsars

4 v B wET TRl

Question Number : 39 Question Id : 16794313752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Where was the 105th Indian Science Congress held in March 20182
Options:

. « Manipur Central University, Imphal

> s S.V. University. Tirupati

- = Lovely Professional University. Phagwara

University of Jammu, Jammu

Question Number : 39 Question Id : 16794313752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 2018 & 105§mmmwm§%aﬁ?
Options:

| AT Sgw Teafaeaem, e

Tw dr. Teafacaey, Owafa

g .

L x T GRS faeafaeaey, W

7 reafacrey, I+
S 4 L

4 *

Question Number : 40 Question Id : 16794313753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 497 of the Indian Penal Code (OPC). that has been in news recently, is about:



Options:
1 % murder

- w rape of minors

5  adultery

4 # Ccrime against people with mental disorders

Question Number : 40 Question Id : 16794313753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qRET 2 Tiear (T ST uRr 497, e A T TSI T L s F &
T

5 % TSR F FATchR

5 v SAEER

4 % FATE® TR Jrer @E & Weh 39Rer

Arithrmetic Alality

Group Number : 3
Group Id: 167943456
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 167943521
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 18

Number of Questionsto be attempted: 18



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943864
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794313754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(zZ6.54163)%2 —(265-163)% .

The value of GiEkieE) 1s equal to:

Options:
1. ® 2

> o 4

4 # 40

Question Number : 41 Question Id : 16794313754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

rierpoy LEGRHESY (G655 168) oo qpre Serrde wepeer oo

(26.5%16.3)

Options:

1 ® 2
o 4
3_-5& 20

g4 ® 40

Question Number : 42 Question Id : 16794313755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 3 26 ik 4 .
The value cf[S — 1 —gf3— +—ﬂf—] oy
9 11 7 o 3

Options:



LA = B | =

I

Question Number : 42 Question Id : 16794313755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FHART (512032 +20f7] 2 oy A frwer T @rem?

Options:
1

LA =

Question Number : 43 Question Id : 16794313756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The LCM and HCF of two numbers are 588 and 14 respectively. How many such pairs of numbers are possible?

Options:

e
b
[ ]

Question Number : 43 Question Id : 16794313756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& FEl F YA FAMET AN AgeaH FAEde HA 588 X 14 §| wEmst & e e
AT 27
Options:

1% 2

Question Number : 44 Question Id : 16794313757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three numbers are in the ratio 4 : 5 : 7 and their LCM is 3360, What is the HCF of these numbers?

Options:

ol

;% 12

> o 24

Question Number : 44 Question Id : 16794313757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

a FET 4 0 5 1 7 F g A ¢ A 3T Fean FAEH 3360 Bl FH HEASHT F AgeaH
ORI #4T g7

Options:

1 = -12

> o 24
ST ] 28

g4 ® 32

Question Number : 45 Question Id : 16794313758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The difference between third proportion and mean proportion of 1.2 and 2.7 is:



Options:
1 o 4275

5 % 4.175
5 % 3.925

4 ® 3.975

Question Number : 45 Question Id : 16794313758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
12 3R 27 & &Y agaa AR AET 3eara & 9= F 3R fhder geme

Options:

v 4275
. % 4.175
- % 3.925

. % 3.975

Question Number : 46 Question Id : 16794313759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio between two numbers is 5 : 7. If first number is increased by 5 and second number is increased by &, the ratio
becomes 7 : 10. What is the sum of digits of the bigger number?

Options:

Question Number : 46 Question Id : 16794313759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar JEaTa % €1 Aaa 5 ¢ 7 ¥l IS 9genr ®EA #1 5 e fean Ser ¢ 3 gud wew 8 sar Raw
ST 8, @ 3T S & a7 ¢ 10 @ ST g T8 FEAT % It v AT el grem?

Options:



Question Number : 47 Question Id : 16794313760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Each side of a triangle in increased by 50%. What is the percent increase in its area?
Options:

I 50%

> o 125%

Question Number : 47 Question Id : 16794313760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U FXPIUT F el o H 50% H gfE % Bl sE & # Traw wfawa gy g

Options:

| % 50%
> v 125%
-« 150%

L % 225%

Question Number : 48 Question Id : 16794313761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A person spends 80% of his income. If his income is increased by 20% and he wants to increase his savings by 50%, by
what percent he increase his expenditure?

Options:

L o 12.5%



Question Number : 48 Question Id : 16794313761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT AT T F 80% W FX ool gl Ale FHT W H 20% Fr giF g S § AR 9 =
FOd H 50% d% giE HLaT TEAT g, af 3W H9T 77 fhae giavd serer wfge?

Options:

| v 125%

. % 15%
2 % 17.5%

4 % 20%

Question Number : 49 Question Id : 16794313762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two articles A and B are sold for ¥ 2240 and ¥ 2300 respectively. If on A, there is a profit of 12% and on B, there is a
profit of 15%, what is the overall profit percent on both articles?

Options:

;% 12.5%

Question Number : 49 Question Id : 16794313762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a1 IEGT A 3R B Her: T 2240 3T T 2300 X 3= Sk §1 G A 9 Amr 12% R B W #msT 15%
g 2, @ 3l aEgat W Fe fae i @t geme

Options:

% 12.5%




>« 13.5%
2w 14%

L = 14.5%

Question Number : 50 Question Id : 16794313763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The simple interest on a certain sum is = of itself. If time in years and rate of interest per year are same, what is the rate
. =]
of interest per annum?

Options:
| % 4%

> R 5%
3. o 6%

4 #® 8040

Question Number : 50 Question Id : 16794313763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
v fARTT v AR S 36 — ¥ Ay A At i 9 o e o A A
=T &7 9id I¥ Fr gere

Options:

1 ® 4%

o W 5%
3.« 6%

g4 #® 8%

Question Number : 51 Question Id : 16794313764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the compound interest on a certain sum for 3 years at 10% per annum is ¥ 13310, what will be the simple interest on
the same sum for 2 years at 5% per annum?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



, 1000
> T1250
5 1500

4 T1550

Question Number : 51 Question Id : 16794313764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

R R1I0% TRF T I3 F TR as T 138308 s o w2 a8 F
T 5% a1 &7 § TTUROT AT fehdell Brem?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, T 1000
, T 1250
- T 1500

. T 1550

Question Number : 52 Question Id : 16794313765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many revolutions will the wheel of a bicycle of router radius 35 cm will make to cover a distance of 2.2 km?

(take m= %)

Options:
;. % 800

> % 900
5 « 1000

4 % 1100

Question Number : 52 Question Id : 16794313765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



2.2 km & gff T F & fAv 35 cm A (TFeR) = Il e & affe @ e aww
El?ﬂ?raﬁﬂ‘?(Tc:%Bﬂﬁ'G)

Options:

. % 800
., = 900
- « 1000

4 % 1100

Question Number : 53 Question Id : 16794313766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The length, breadth and height of auditorium are 30 m. 20 m and 8 m respectively. If a person needs 0.7 m* area to sit
and 4.8 m? air apace to breath, how many people can be seated in the auditorium?

Options:
1 % 1000

Question Number : 53 Question Id : 16794313766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el |aeT Fr wEE, == AT FEE #He 30 m, 20 m 3R 8 m g1 I R g #r dew +
BT 07 m®* &5 3R o9 o9 & BT 4.8 m® za® &5 F A9 TFHaT g g, af TR H Bae #@er
e =T g 2

Options:

. = 1000

., = 858
5 « 857

., » 856



Question Number : 54 Question Id : 16794313767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two trains of length 270 m and 360 m are running on parallel tracks in same direction with respective speeds of 50km/h
and 86 kim/h. In how many seconds will the train running faster cross a person sitting in the slower train?

Options:
1 ® 27

Question Number : 54 Question Id : 16794313767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

270 m 3T 360 m &% FT a7 A TARGK Tl T TH & 8w &F Faer 50 km/h R 86 km/h & I
Er g1 O e 7 8% v Sufed o oF 99 W e Oae O 9T FT ol

Options:

1 = 2?
> o S0
ST ] 54

g ® 53

Question Number : 55 Question Id : 16794313768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A boat covers a distance of 12 km upstream and 14 km downstream in 6 hours. It also covers a distance of 9@ km
upstream and 7 km downstream in 4 hours. What is the speed of boat in still water in km/h?

Options:

L
%
LA

e
b
LA
Lh

Question Number : 55 Question Id : 16794313768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

UF A R F AT 12 km g8 AR onr 7 fRw F 14 km Fr g 6 9 F T AT 8| TE U F
faolia 9 km gy 3k amr & Rr F 7 km Fr g o 4 T F TT T &I 99 T F A9 Fr iy
km/h & frasT gefr?

Options:

1 = 4

3 D

Question Number : 56 Question Id : 16794313769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A does 20% less work than B. If A can complete a certain piece of work in 30 days. then A and B working together will
complete the same work in how many days?

Options:

Question Number : 56 Question Id : 16794313769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A B & 20% FH FTH FId %IﬁAWW#@%@ﬁSD%ﬂTﬁ@WWEHﬁABﬂT
B 38 #1H # foraet AT 7 9w w87

Options:




Question Number : 57 Question Id : 16794313770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A tap can fill a tank in 10 hours. After half the tank is filled, three more similar taps are opened. In how many hours the
tank will be filled?

Options:

1
5_
1 & 4

Question Number : 57 Question Id : 16794313770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 7o B8 & &7 10 9 & 9X TFaT 21 &% F I oS F 9 91 3 8T a9 @ B JT £
Options:
1

6=
1 ¥ 4



Sub-Section Number: 2
Sub-Section I1d: 167943865
Question Shuffling Allowed : Yes

Question Id : 16794313771 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (58to 60)
Juestion Label - Comprehension

Study the table below that gives the number of male and female

students in different subjects in a university and answer
the following three questions.

Subjects Male Female
Science 9384 1148
Maths 738 084

Commerce 1230 738

Economics 410 574

Humanities 656 738
Sub questions

Question Number : 58 Question Id : 16794313772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the percentage of total students who
are studying Science?

Options:
1 % 21%

o 239%
5 o 26%
% 279%

Question Number : 59 Question Id : 16794313773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which subject the percentage of girls is highest?

Options:



1 # Science
- % Maths
= « Economics

4 % Humanities

Question Number : 60 Question Id : 16794313774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the percentage of boys studying in the university
(give answer correct upto two decimal places)?

Options:
1 ® 48.82%

> o 49.00%
s % 49.01%

4 % 49.02%

Question Id : 16794313771 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (58 to 60)
Cesticn Label | Comprehension

A & T Ao F HewTe FY S Beafemew § Rt
vt & 92w 3R Ffger oET Fr FEw Tq@r § AR 56 EER
Fafaf@a @9 oAt 1 3e

e | T | AR
CEIGE 984 1148
o 738 984
o= 1230 738
37T 410 574
HATATIHT 656 738

Sub questions



Question Number : 58 Question Id : 16794313772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

O 1 9g% FX W@ Fo ol F Fided
T &7

Options:

L% 21%

. % 23%
- v 26%

4% 27%

Question Number : 59 Question Id : 16794313773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
rw g & a=fFar & 9o =58 =3mer 22

Options:

Question Number : 60 Question Id : 16794313774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terafeezmem & 9 W@ &= (7 o) #
gieerg fhaar ¢ (37 srde TUE! aF
Her 3caX &)?

Options:

| % 48.82%
» « 49.00%

2« 49.01%



. % 49.02%

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General English

4
167943457
0

0

No

No

0

20

Yes

0

0

General English

Section Id : 167943522

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943866
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794313775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the most appropriate sentence order from the options given below.

Options:
, = Last night the children danced at the school annual function beautifully.

5 ® The children danced at the school annual function beautifully last night.

=  1he children danced beautifully at the school annual function last night.

4 # The children beautifully danced last night at the school annual function



Question Number : 61 Question Id : 16794313775 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate sentence order from the options given below.

Options:
, = Last night the children danced at the school annual function beautifully.

- % The children danced at the school annual function beautifully last night.

-  The children danced beautifully at the school annual function last night.

4, = TIhe children beautifully danced last night at the school annual function

Question Number : 62 Question Id : 16794313776 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate sentence order from the options given below.
Options:

1 % We went home last month four times.

~ % Fourtimes last month we went home.

% % Last month four times we went home.

4 +« We went home four times last month.

Question Number : 62 Question Id : 16794313776 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate sentence order from the options given below.
Options:

1 % We went home last month four times.

~ % Fourtimes last month we went home.

= % Last month four times we went home.

4 +« We went home four times last month.

Question Number : 63 Question Id : 16794313777 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate sentence order from the options given below.

Yes

Yes

Yes

Yes



Options:
; w She tore my letter into two halves neatly, which was very unfortunate.

-~ # She tore neatly into two halves my letter, which was very unfortunate.

5  She tore my letter neatly into two halves. which was very unfortunate.

4 = Which was very unfortunate. she tore my letter neatly into two halves.

Question Number : 63 Question Id : 16794313777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate sentence order from the options given below.
Options:

, = She tore my letter into two halves neatly, which was very unfortunate.

- = She tore neatly into two halves my letter, which was very unfortunate.

5  She tore my letter neatly into two halves. which was very unfortunate.

4 = Which was very unfortunate. she tore my letter neatly into two halves.

Question Number : 64 Question Id : 16794313778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate grammatical sentence from the given options.

Options:

L& Does she have a pet dog? Yes. she does.
5 % Does she has a pet dog? Yes, she does.
- w DO she have a pet dog? Yes. she do.

4 = Do she have a pet dog? Yes, she did.

Question Number : 64 Question Id : 16794313778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate grammatical sentence from the given options.

Options:



, « Does she have a pet dog? Yes, she does.

- % Does she has a pet dog? Yes, she does.

= » Do she have a pet dog? Yes, she do.

4 # Do she have a pet dog? Yes, she did.

Question Number : 65 Question Id : 16794313779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

The police resorted to lathi charge because the crowd outside the theatre massive and rebellious.

Options:
1 & Was

5 % were
2 % are

4 % been

Question Number : 65 Question Id : 16794313779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

The police resorted to lathi charge because the crowd outside the theatre massive and rebellious.

Options:
1 & Was

5 ® Were
5 ® are

4 % been

Question Number : 66 Question Id : 16794313780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate grammatical sentence from the given options.

Options:



; w Wewill revert back to our preliminary plan as soon as possible.

> w we will revert back our preliminary plan as soon as possible.

-  We shall revert to our preliminary plan as soon as possible.

4 % We shall be reverted to our preliminary plan as soon as possible.

Question Number : 66 Question Id : 16794313780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate grammatical sentence from the given options.
Options:

; w Wewill revert back to our preliminary plan as soon as possible.

> # we will revert back our preliminary plan as soon as possible.

-  We shall revert to our preliminary plan as soon as possible.

4 % We shall be reverted to our preliminary plan as soon as possible.

Question Number : 67 Question Id : 16794313781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the grammatically incorrect statement from the following options.
Options:

, % Anumber of people were present at the gathering to support the new president

- % [Ihenumber of people we wanted was five hundred

=  Anumber of people was held up due to traffic

4 % Thenumber of people here right now has definitely doubled after the speech

Question Number : 67 Question Id : 16794313781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the grammatically incorrect statement from the following options.

Options:



, » Anumber of people were present at the gathering to support the new president

- % [Ihenumber of people we wanted was five hundred

=  Anumber of people was held up due to traffic

4 % Thenumber of people here right now has definitely doubled after the speech

Question Number : 68 Question Id : 16794313782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct form of active voice for the below passive voice sentence.

My room is being redecorated by a very talented interior designer.
Options:

, w My room is redecorated by a very talented interior designer.

- # Avery talented interior designer is been redecorating my room.

= = Avery talented interior designer was redecorating my room.

4  Avery talented interior designer is redecorating my room.

Question Number : 68 Question Id : 16794313782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct form of active voice for the below passive voice sentence.

My room is being redecorated by a very talented interior designer.
Options:

, % My room is redecorated by a very talented interior designer.

- # Avery talented interior designer is been redecorating my room.

= = Avery talented interior designer was redecorating my room.

4  Avery talented interior designer is redecorating my room.

Question Number : 69 Question Id : 16794313783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the correct form of passive voice for the below active voice sentence.

Did she identify you after all these years?
Options:
; = She was identified by you after all these years?

- = You were identified by her after all these years?

s  Were you identified by her after all these years?

4 = Was she identified by you after all these years?

Question Number : 69 Question Id : 16794313783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct form of passive voice for the below active voice sentence.

Did she identify you after all these years?
Options:
; = She was identified by you after all these years?

- = You were identified by her after all these years?

=  Were you identified by her after all these years?

4 % Was she identified by you after all these years?

Question Number : 70 Question Id : 16794313784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

Is it true she actually tea coffee?
Options:
, w prefer, than

- u prefers, than

- u prefer. to



4  Drefers, to

Question Number : 70 Question Id : 16794313784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

Is it true she actually tea coffee?

Options:
, = prefer. than

- u prefers, than

5 = prefer, to

4 « Drefers, to

Question Number : 71 Question Id : 16794313785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct statement/statements from the options given below.

1) I would rather you meet me at my office.
i1) I would rather you met me at my office.
iii) I would rather you didn’t share this conversation with anybody else.
1v) I would rather you don’t share this conversation with anvbody else.
Options:
1 % i&iii

> ® 181V
3 o 1l & iii

4 ® 1 &iv

Question Number : 71 Question Id : 16794313785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the correct statement/statements from the options given below.

i) I would rather you meet me at my office.
ii) I would rather you met me at my office.
iii) I would rather you didn’t share this conversation with anybody else.
1v) I would rather you don’t share this conversation with anvbody else.
Options:
1 % 1&iii

> ® 1& 1V
2 o ii & iii

4 ® &IV

Question Number : 72 Question Id : 16794313786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

She in that college  last April
Options:
, = has been working, for

- » have been working. for

5  has been working, since

, = have been working, since

Question Number : 72 Question Id : 16794313786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

She in that college  last April
Options:
, = has been working, for

- » have been working. for



5  has been working, since

, = have been working, since

Question Number : 73 Question Id : 16794313787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

If the teachers the exam, the students to the authorities.
Options:
, w does not conduct. would have come and complained

-  do not conduct, will come and complain

= » Wwill not conduct. come and complain

4 % did not conduct, will come and complain

Question Number : 73 Question Id : 16794313787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

If the teachers the exam, the students to the authorities.
Options:
, w does not conduct. would have come and complained

-  do not conduct, will come and complain

- % Will not conduct, come and complain

4 % did not conduct, will come and complain

Question Number : 74 Question Id : 16794313788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

If you for the movie, vou vour homework first.

Options:



, w are going, will finish

will be gone ., would finish

n
]

have gone, will finish

4 & A€ going, should finish

Question Number : 74 Question Id : 16794313788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks below with the most appropriate option.

If you for the movie, you vour homework first.
Options:
, w aregoing, will finish

-~ % Wwill be gone . would finish

- » have gone, will finish

4 o A€ going, should finish

Question Number : 75 Question Id : 16794313789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank below with the most appropriate option.

This is a school. You smoke here.

Options:
1 % couldn’t
- % wouldn’t

= o mMmusin’t

4 % won't

Question Number : 75 Question Id : 16794313789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank below with the most appropriate option.

This is a school. You smoke here.
Options:

1 % couldn’t

> % wouldn’t

= o musin’t

4 % won't

Sub-Section Number : 2
Sub-Section I1d: 167943867
Question Shuffling Allowed : Yes
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Read the following passages and answer the questions.

The big picture: in pursuit of Icarus under the big top
Peter Conrad, The Guardian

Seen from above, the big top at the Cirque d’Hiver in Paris resembles
a compact, scaled-down cosmos — a metaphysical arena. Spectators
seated in circles stare up at trapeze artists who, as Pascal Jacob puts it
in his new book, The Circus: A Visual History, re-enact the mythical
flight of Icarus and hope to demonstrate that grounded human beings
can enjoy the aerodynamic privileges of the gods.

The name says it all: a circus is about wheeling around in circles, as
the Earth does in its daily routine or as your dizzy head may do while
you watch acrobats vault through space like weightless projectiles or
flaming comets. But at least the Earth spins reliably on its axis, held
in orbit by its gravitational ties to the sun: viewed here from a
sickeningly vertical angle, space has an unexpected terror. We could
be gazing into the gullet of a cannon from which the aerialists were
fired. Or are we peering down one of the wormholes imagined by
physicists — chutes that can send us plunging between worlds?

Nowadays, a drone would be sent to capture this image, with no risk
of light-headed, stomach-churning panic. In 1969, a nameless
photographer clambered up those shaky rope ladders and balanced
there precariously to show us we’re suspended in the vast, draughty
universe. A safety net is stretched far below to catch the bodies of
the two high flvers if they fall; the mind. unsettled by a vertigo of its
own as it surveys the void, has no such protection.

Sub questions

Question Number : 76 Question Id : 16794313791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Through the depiction of circus in the passage, the author
establishes a mood wherein the reader would

Options:

.« Analyse the dangers involved in circus

e

Compare safety measures in circus from the past
- % andin present

Ponder over the marvels of circus and its
.~ aerodvnamic adventures



See the underlying similarity between circus

4 % artists and Icarus.

Question Number : 77 Question Id : 16794313792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word that least closely refers to ‘metaphysical’ in
the options given below is:
Options:
1 % Abstruse

- % Esoteric

- # Mystical

4 « Concrete

Question Number : 78 Question Id : 16794313793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the context of the passage, the allusion to ‘the mythical
flight of Icarus’ is meant to show that:
Options:
Circus is about wheeling round in circles without
the reliability of an axis.

In circus. human beings can enjoy the flving powers
s of gods even if it is dangerous.

Acrobats could vault through space like weightless
= % projectiles.

Due to modern inventions, circus has become safer
and interesting like the flight of Icarus.

Question Number : 79 Question Id : 16794313794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Based on vour reading of the passage, choose the
contextual meaning of ‘void’ that fits the passage
the best from the options given below:



Options:
1 % Not valid

- w Not legally binding

5« Vacuum

4 % Uninhabited

Question Number : 80 Question Id : 16794313795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Based on vour reading of the passage. choose the

correct statement from the options given below.

Options:

Cirque d’Hiver in Paris is a metaphysical arena for circus,
which is compact and scaled down in comparison to the
larger cosmos but still has dizzyving heights.

,_.
3

The terrifying sight of acrobats vaulting through space
reminds us that we are also precariously suspended
- « inthe cold universe with no protection

It was a nameless photographer who precariously

clambered up shaky rope ladders to show the

world the sickeninely vertical angle and terror
involved in circus.

t
®

Pascal Jacob, through his new book The Circus: A

Visual History, re-enacts the mythical flight of Icarus

and hopes to demonstrate that grounded human beings
4 = can enjoy the aerodynamic privileges of the gods.

Question Id : 16794313790 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passages and answer the questions.

The big picture: in pursuit of Icarus under the big top
Peter Conrad, The Guardian

Seen from above, the big top at the Cirque d’Hiver in Paris resembles
a compact, scaled-down cosmos — a metaphysical arena. Spectators
seated in circles stare up at trapeze artists who, as Pascal Jacob puts it
in his new book, The Circus: A Visual History, re-enact the mythical
flight of Icarus and hope to demonstrate that grounded human beings
can enjoy the aerodynamic privileges of the gods.

The name says it all: a circus is about wheeling around in circles, as
the Earth does in its daily routine or as your dizzy head may do while
you watch acrobats vault through space like weightless projectiles or
flaming comets. But at least the Earth spins reliably on its axis, held
in orbit by its gravitational ties to the sun: viewed here from a
sickeningly vertical angle, space has an unexpected terror. We could
be gazing into the gullet of a cannon from which the aerialists were
fired. Or are we peering down one of the wormholes imagined by
physicists — chutes that can send us plunging between worlds?

Nowadays, a drone would be sent to capture this image, with no risk
of light-headed, stomach-churning panic. In 1969, a nameless
photographer clambered up those shaky rope ladders and balanced
there precariously to show us we’re suspended in the vast, draughty
universe. A safety net is stretched far below to catch the bodies of
the two high flvers if they fall; the mind. unsettled by a vertigo of its
own as it surveys the void, has no such protection.

Sub questions

Question Number : 76 Question Id : 16794313791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Through the depiction of circus in the passage, the author
establishes a mood wherein the reader would

Options:

.« Analyse the dangers involved in circus

e

Compare safety measures in circus from the past
- % andin present

Ponder over the marvels of circus and its
.~ aerodvnamic adventures



See the underlying similarity between circus

4 % artists and Icarus.

Question Number : 77 Question Id : 16794313792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word that least closely refers to ‘metaphysical’ in
the options given below is:
Options:
1 % Abstruse

- % Esoteric

- # Mystical

4 « Concrete

Question Number : 78 Question Id : 16794313793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the context of the passage, the allusion to ‘the mythical
flight of Icarus’ is meant to show that:
Options:
Circus is about wheeling round in circles without
the reliability of an axis.

In circus. human beings can enjoy the flving powers
s of gods even if it is dangerous.

Acrobats could vault through space like weightless
= % projectiles.

Due to modern inventions, circus has become safer
and interesting like the flight of Icarus.

Question Number : 79 Question Id : 16794313794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Based on vour reading of the passage, choose the
contextual meaning of ‘void’ that fits the passage
the best from the options given below:



Options:
1 % Not valid

- w Not legally binding

5« Vacuum

4 % Uninhabited

Question Number : 80 Question Id : 16794313795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Based on vour reading of the passage. choose the

correct statement from the options given below.

Options:

Cirque d’Hiver in Paris is a metaphysical arena for circus,
which is compact and scaled down in comparison to the
larger cosmos but still has dizzyving heights.

,_.
3

The terrifying sight of acrobats vaulting through space
reminds us that we are also precariously suspended
- « inthe cold universe with no protection

It was a nameless photographer who precariously

clambered up shaky rope ladders to show the

world the sickeninely vertical angle and terror
involved in circus.

t
®

Pascal Jacob, through his new book The Circus: A

Visual History, re-enacts the mythical flight of Icarus

and hopes to demonstrate that grounded human beings
4 = can enjoy the aerodynamic privileges of the gods.
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Question Number : 82 Question Id : 16794313797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 90 Question Id : 16794313805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=+ AT 20 HiA-AT g7
Options:
1, ® ooUl

g_jq}h’-q‘

Question Number : 90 Question Id : 16794313805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1NW

g_jm



Question Number : 91 Question Id : 16794313806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

JcHH 9EE SIT-AT 87
Options:

Question Number : 91 Question Id : 16794313806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

JcOH e SiT-AT 87
Options:
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4 % SN

Question Number : 92 Question Id : 16794313807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 16794313807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 93 Question Id : 16794313808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 93 Question Id : 16794313808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 94 Question Id : 16794313809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘AT w1 e Ew a= gem:

Options:

1 % ferer=it
. o T
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L w HEd

Question Number : 94 Question Id : 16794313809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 16794313810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 16794313810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % SF
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Question Number : 96 Question Id : 16794313811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 96 Question Id : 16794313811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 16794313812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 16794313812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 16794313813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 16794313813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 16794313814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 16794313814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

foear 2 ST | 37 Y # e F A HEE 8

Options:
| % SET-ETET g



> % SO @ JAET
o TS TR

4 % T T

Question Number : 100 Question 1d : 16794313815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id ;: 16794313815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 6

Group Id: 167943459
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943524

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943869
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794313816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Letn > 1 be fixed and a, b, ¢ be arbitrary integers. If a = b (mod »). then:
Options:

g @ -+

y b + ¢ (mod n) but ac £ bc (mod n)

5 % @+cFb+c (modn)butac = be (modn)

5 ¢ @+C=Db+c (modn)and ac = be (mod n)

4 w @+cFb+c (modn)and ac F be (mod n)

Question Number : 101 Question Id : 16794313816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A o n> 1 ReiRE ¥ 3% o,b,c TERow i &1 3R a=b (mod n) &, ar:

Options:
, % a+c =b+c (mod ) WfRT ac £ be (mod 1)

, x a+c Eb+c (mod n) AT ac=be (mod r)



o v a+c =b+c (mod n) AfFT ac=bc (mod 1)

. % a+c EFb+c (mod n) ART ac £ be (mod 1)

Question Number : 102 Question Id : 16794313817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If ged (a,n) = 1, then the linear congruence ax = b(modn) has:
Options:

1 % no solution

-  @unique solution modulo n

- w exactly n incongruent solutions modulo n

4 = exactly 2n incongruent solutions modulo n

Question Number : 102 Question Id : 16794313817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3P ged (a,n) = 1, ar Y@= @A (linear congruence) ax = b(modn) F AT g 2

Options:

| ® HIT & @I

T ST g ATl 7

RresFer n FWIETEA (incongruent) g ATSTET 7

B

Rregper 2n FEAFTEA (incongruent) g ATSTAT 7

Question Number : 103 Question Id : 16794313818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sum of positive divisors of 180 is:

Options:
;. ® 564

> o 546



s % 654

4 % 456

Question Number : 103 Question 1d : 16794313818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

180 F UATcHS HISHI F TR AFAteli@d H Hid g7
Options:

| % 564

. 546
. = 654

, = 456

Question Number : 104 Question Id : 16794313819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The decimal representation of 30! terminates with:

Options:
1 ® 35 zeros

o # 0 Zeros
= «F 7 Zeros

4 % B Zeros

Question Number : 104 Question 1d : 16794313819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
5 =T



Question Number : 105 Question Id : 16794313820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If p and g are distinct primes, then:
Options:

, ¢ P74 g =1 (modpg)

> » P +qP7 = —1(modpg)

5 % P+ g7 =0 (modpg)

4 % Pt +g" =2 (modpg)

Question Number : 105 Question Id : 16794313820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

PR p IR g GETSE 31=7 €, an
Options:

| ¢ P71 +gP =1 (modpgq)

o P +qPt =—1(modpq)

5 % P +q" ! =0 (modpq)

4 ® PTH+qP =2 (modpq)

Question Number : 106 Question Id : 16794313821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If x is the remainder when 17! is divided by 19. Then the value of x is:
Options:

1. ® — 1



Question Number : 106 Question Id : 16794313821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ® = 1

> o
3.5&0

g4 ® 1?

Question Number : 107 Question Id : 16794313822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifn > 2 is an integer and $(n), represents the Euler's totient function, then the value of ¢(n) is:
Options:

| any positive integer

- % @aprime integer

- » anodd integer

4 # aneveninteger

Question Number : 107 Question Id : 16794313822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 16794313823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Every integer n = 1 is either a prime or:

Options:

, = 1s expressible as a sum of finitely many prime numbers.

- 1 expressible as a product of finitely many prime numbers.

5 w 1s expressible as a sum of finitely many even numbers, which is not unique.

4 = 1Isexpressible as a sum of finitely many odd numbers.

Question Number : 108 Question Id : 16794313823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
LY LS
n>1 @ Foden Ui AT A7 Teh AT g AT

Options:
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. » F5 TH TEA AfF S AE &L 3% A F T H HJReSAT g

., » F5 T vy gEmnt & 99 F w9 § sfEegeaa)

Question Number : 109 Question Id : 16794313824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 9 students are chosen in any way from a class. then the number of students who will have been born on the same day
of the week is:

Options:
1 + almost two

- u exactly two

- % atleast two



4 % atleast three

Question Number : 109 Question Id : 16794313824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 110 Question Id : 16794313825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If A, B, C are finite sets such that B and C are disjoint. then |A U BU C] is equal to:

Options:

; = |[Al+IBl+|C[+|AnB|+[AnC|—-[AnBn(|
> = |Al+[Bl+[C|+[AnB|—-|BUC|+[|AnBnC|
s = |Al+[Bl+|C|—[AnBn(|

4 ¢ |Al + B+ [C| - [AnB| - |AnC]

Question Number : 110 Question Id : 16794313825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3R A, B, C & 9tfeT weg==w & & B 3R C 3wyea (Bw==me) & -2 £ &7 |AuBuUC|
& FET g

Options:

. = |[Al+|B]+IC[+|AnB|+|AnC|—-[AnBn(|

> = |Al+[B]+[C|+[AnB]|—-|BUC|+|ANnBNC|



= % [Al+|B|+[C|—-[AnBnC]

4 ¢ Al + B+ [C| - [AnB]—|ANnC]

Question Number : 111 Question Id : 16794313826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The general solution of recurrence relation, a, —9a,_, + 14a,_, = 7.5, r = 2 is:

Options:

. A2T 4+ A5+ ? 77, where A; and A, are arbitrary constants.
175 i

S AL 2T+ A, TP + S 5%, where A; and A, are arbitrary constants,
175 ;

AL2T+ A, 7" ——.5",where A; and A, are arbitrary constants.
G 6
i ABT+A,. 77— %. 2", where A; and A, are arbitrary constants.

Question Number : 111 Question Id : 16794313826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YeIgfed HET & WA g,
a,—9a,_, +14a.,=75r=>2 &
Options:

A;.2" + A, 55+ 277 I A, 3R A, IefRew fma B

1 %

S Al.21‘+A2.?f+$.51‘,aﬁ Al 3t A2 TefEos aae £
175 : b m
f A1.2f+A2.?r—?.5fagrmaﬂm2'mﬁm:mﬁm%|
i
, 171 ¥
ALSTHA, T ——— .27 SR AL HT A2 aE=os THaae gl
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Question Number : 112 Question Id : 16794313827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the periodic function having period 7.

Options:



G)
cos(=
2
o ® XSIHX

5 o |Sinx|

4 % [X+ ], where [.] represents the greatest integer function

Question Number : 112 Question Id : 16794313827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SRTE 1 & TFT HTEUF ol BT TgT F

Options:

%
cos(=
|y 05G)
5 ® XSINX

5 o |sinx|

, « Det T, STET [] W QUi ®eret &7 Al oo e 2

Question Number : 113 Question Id : 16794313828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S
For areal number x, lim (ﬁ) is equal to:

D x—soo W24X

Options:

Question Number : 113 Question Id : 16794313828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Us STEd e &A1 x & o7, lim (x-a)*"' T &

s 24x
Options:
1
1 % @
1
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Question Number : 114 Question 1d : 16794313829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A function f(x) is continuous at a point a of its domain if:

Options:
lim f(x)= lim+f(x]

~ lim f(x) exists and is finite
> ® x—a

lim f(x) # f(a)

lim £ (x) = f(a)

Question Number : 114 Question Id : 16794313829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE o f(x) T g a U7 39 2 W HaT 2T ¥ IR
Options:

lim f(x) = lim_f (x)

i X—=a X—=(0

lim f(x) HieEg & #R 77 R &

lim £ () # £ ()



., Imf@=f@

Question Number : 115 Question 1d : 16794313830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If f(x)= Ix—?l-l-Ix—2|+Ix—M,ﬂwnthevalueofif(ﬂc) atx =5 is

Options:
1 ® 0

= o« 1

| ]

Question Number : 115 Question Id ;: 16794313830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HR fx)= |x—7|+|x—2|+|x—3], &t xﬂif(x] F AT =5 &
Options:

1 ® D

> o 1
T W -1

4 % 2

Question Number : 116 Question 1d : 16794313831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the limit:

tanx —tany

lim
K=Y X —

Options:
1 % sectx

5 % COSZX



5 o 56’y

4 % COS®Y

Question Number : 116 Question Id : 16794313831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fofae 79 =

tanx —tany

lim
XY X:=—=¥
Options:

| % secx

> % COSZx
Z F
5 o SBC

4 % COS%y

Question Number : 117 Question Id : 16794313832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a cow shed 25 cows are tied up equidistant in a straight line. There is a distance of 5 m between any two cows. The
hay container is at a distance of 10 m from the first cow. The caretaker has to feed each cow separately. beginning from
the first cow. What will be the total distance covered by the caretaker in order to feed all the cows, if he starts to move
from the container and ends at the last cow?

Options:
1. % 3350m

> % 3360 m
= o 3370m

4 % 3380m

Question Number : 117 Question Id : 16794313832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TR H ey FaAR 7 25 TMAT F AW g T 8y v gl B o ar & @ Fr gl 5 A
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Options:

.« 3350 #Hrex
> % 3360 Hex
- » 3370 #Hrex

, % 3380 #Hrex

Question Number : 118 Question 1d : 16794313833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If there are n arithmetic progressions with the first term of each being unity and common differences as 1, 2. 3. ... n

respectively. then the sum of their n®* terms is:
Options:

2
, & n(n°—1)

@2 —1)
_n_
2_&52

5 » n(n®+1)

Ztm?+1)
4 o 2

Question Number : 118 Question Id : 16794313833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

3R n HFAOET HHH & o ¥ Rl 1 9ger 9e s 3R @EEw He W & w1, 2, 3.,
& @ 3% A 92 3T g

Options:

o n(m®—1)

= n? — 1)
_n_
2_&52

5 x n(m*+1)

n

e z[nz-i—l]



Question Number : 119 Question 1d : 16794313834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sum of n terms of four arithmetical progressions are 5;,5,, 53 and 5, . with the first term of each as unity and the
common differences as 1, 2, 3 and 4 respectively. Then:

Options:

Question Number : 119 Question Id : 16794313834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

n 9@ % IR AT HHA S, S,,S; HN S, I T TwA g ol 1 ugen ug sHe IR mHAT
HaX FEA: 1, 2, 3.4 §, ar

Options:

, n Spt8,=S5:+S,

- ® Sl+ 53 =Sz+54

Question Number : 120 Question Id : 16794313835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The points (4, 3). (1. 2). (—2.— 1) and (1. 0) are the vertices of a:

Options:
1 % Square

-  Parallelogram

5 = Rectangle

4 % Rhombus



Question Number : 120 Question Id : 16794313835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
®g (4,3), (1,2), (- 2, - 1) 3R (1,0) & ofig &

Options:
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Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 16794313836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the points A, B. C are the vertices of a triangle and P. Q. R are the mid-points of sides of AABC, then:

Options:
Area of AABC = i Area of APQR

-  Area of AABC =4. Area of APQR

5 # Area of AABC =2. Area of APQR

Area of AABC = g Area of APQR

Question Number : 121 Question Id : 16794313836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3R foig A, B, C w& M & ofi¥ & 3k P, Q, R AABC of=m & mew fag ¢ an:
Options:

AABC & &I9%d =

1 ®

APQR =T &9%a gFT

. » AABC &7 819%e = 4 APQR &7 &% g

% AABC T 879%el = 2 T &TS%el g

=

: AABC & &9%er = - APQR =T &9%d @1

4.

Question Number : 122 Question Id : 16794313837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Consider three points (a+1,a— 2), (a, 2a+ 1) and (-2 + a, 3a — 2). What should be the value of ‘a’ so that these points are
collinear?

Options:



Question Number : 122 Question Id : 16794313837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e g (a+1, a -2), (a. 2a+1) 3R (-2+a, 3a-2) W AR F| ‘a’ &7 A forgem & arfe ¥ gt
T g

Options:

1, % -7

2_%5
3_-&5&9

44 -9

Question Number : 123 Question Id : 16794313838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If two medians of a triangle are equal. then which of the statements is true?

Options:

, w Triangle is a right angled triangle.

> % Iwomedians of a triangle cannot be equal.

- » [Iriangle is an equilateral triangle.

4 « Iriangle is an isosceles triangle.

Question Number : 123 Question Id : 16794313838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR TF T 1 & AfeTt WY @ a AeAfaiad J ¥ FiT HUF G 87

Options:

', et < rr g
. TF i 1 3 Afuse ST 7€ & whd|

o PRI T waETg B B

>

, o RIS U wHefuarg R B



Question Number : 124 Question 1d : 16794313839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Take two points P and Q on the line joining A (7, 2) and B (9, 5) such that AP =PQ = QB. Then the mid-point of PQ is:

Options:

Question Number : 124 Question 1d : 16794313839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
@ A (7, 2) R B (9, 5) & e arer & foig P 3k Q 35 9% § & AP = PQ = QB gar g1 &
PQ = 7ew g &

Options:

Question Number : 125 Question Id : 16794313840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Identify the quadratic equation whose roots are:

a+b
ﬂa—l—bixﬁ

Options:

, & bx* —2(a+b)zx+2(a+b)z=0

, o bx® —2(a+b)z x+ (a+B)2 =0
. % (@+b)>x?—2(a+b)2x+b=0

4 % 2(@a+bx*—bx+(a+hb)*=0

Question Number : 125 Question 1d : 16794313840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3H SfaETar FHIOT T TgETT H [oAHe T
a+h %

w‘a+bi\-"§

Options:

, & bx* —2(a+b)zx+2(a+b)z=0
5 @ bx* =2(a+b)zx+(a+D)*=0
> % (@+b)’x*—2(a+b)zx+b=0

4 % 2(@+b)2x*—bx+(a+b)*=0

Question Number : 126 Question Id : 16794313841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Identify the equation whose roots are (@ + £)° and (@ — 8)*, where @ and  are the roots of
2x2+2(a+b)x+(a*+b*) =0

Options:

{ = 2abx* —x+(a*—b*) =0



5 o X°—4abx —(a® —b*)* =0

- x X°—(a®*=b*)x —4a’h* =0

4 % 2abx*+(@* —b)x+1=0

Question Number : 126 Question Id : 16794313841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3H THEOT HT TgT W owE THA (a+ )23 (a—p)?, & TeT a IR g F T
2x2 4+ 2(a+ bB)x + (a2 + b?) =0 gl

Options:

, & 2abx* —x+(a*—b*)=0

> o X°> —4abx — (a®> —b*)* =0

s u X°—(a®—b*)x—4a’h*> =0

4 % 2abx*+ (@ —b)x+1=0

Question Number : 127 Question Id : 16794313842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the roots of ax® + bx + 7 = 0 are reciprocals of each other, then the value of @ is:

Options:

Question Number : 127 Question Id : 16794313842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

PR ax’+bx+7=0 FH A TH-GA FT hepH (89Fa) § & a & AR ¢

Options:



Question Number : 128 Question 1d : 16794313843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If o and P are the roots of quadratic equation x* — 7x + 10 = 0, then identify the equation whose roots are % and ﬂﬁ—?
28

Options:
. % 100x2—203x—49=0

. % 100x2—203x+49=0
2 v 49x2 —203x+100=0

4 % 100x%+203x+29=0

Question Number : 128 Question Id : 16794313843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I o AT P EEEE THEROT «% — Tx + 10 = 0, FFIHA & AT 3T THTHIUT T Tl o 1Tl T2 %‘3
e < 3

Options:

1 % 100x?—203x—49=0

o % 100x%2—203x+49=0
2 @ 49x2 —203x+100=0

4 % 100x%2+203x+29=0

Question Number : 129 Question Id : 16794313844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If the discriminant of quadratic equation ax® + bx + ¢ =0, where @, b,¢ € Z and a # 0, is non-zero and not a perfect
square, then the roots of this equation are:

Options:
, = rational and unequal

-  irrational and unequal

- » rational and equal

4, w irrational and equal

Question Number : 129 Question Id : 16794313844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3R gfaurdr FHetor # fafaaast (Bafeieie) ax? +bx+c=0 § @ a,b,c € Z 3N a # 0 I-GT AR v
Tl T ¢, A 58 THE0 7 FAA 8

Options:

 w IHET R 3EAA
o v HIRET HR 3TAH
- » 9NET HR A

4 » FIAT #R @E=

Question Number : 130 Question Id : 16794313845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gy a b & 2
If a,b,c > 0, then minimum value of - - is:
b+e c+a a+hb

Options:
1. ‘@3 5[“’2

| ]

3.« 3/2

Question Number : 130 Question Id : 16794313845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 52

Question Number : 131 Question Id : 16794313846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a, b, ¢ are non-negative real numbers, then:

Options:
{ » @*+b*+c* <abc(a+b+c)

o ¢ @'+ b +c*>abc(a+b+c)

4
a4+b4+c4{3(—a+b+c)
o 3

S

4% a*+b*+et*<a+b+c

Question Number : 131 Question Id : 16794313846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X a, b, ¢ IT-HFuTcA+ I=dfas F&TT g, ar

Options:
| » @*+b*+e*<abec(a+b+c)

o @ @'+ b +c*>abc(a+b+c)
a+b+cr

a“+b“'+c“{3( 3

3.

a8 a*+ b +ect*<a+b+c

Question Number : 132 Question Id : 16794313847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

i F i —3 =1 —2 1
Consider the system of inequalities, xT — e xT = xT, 2 —x > 2x — 8. Then the possible value of x are:
Options:

] {1
1, % F3

> 8 —1<x<10

%z % no solution

10
] e
4 3

Question Number : 132 Question 1d : 16794313847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ITATAST FT JUeT | ?—x{x_l—x_z,Z—x:: 2x — 8 W AR &L ar xFraaEd Adg:

2 3

Options:

] < {1
1, % T3

> B —1 << x< 10

z ® FIS g Fal

10
A
4.« 3

Question Number : 133 Question 1d : 16794313848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

x—1 —x—1
Forarealx . if y = G) + G) . then the least value of v is:

.

Options:

H
#
b | L

Lol | o
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Question Number : 133 Question Id : 16794313848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ATEATa® x *ﬁ?m}f=(5)x_l+(i)_r_l , & y F FTEIH A g

2 2
Options:
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1, % 4

R

Ly
b
|
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Question Number : 134 Question Id : 16794313849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The number of values of k for which the system of equations (k + 1)x + 8y =4k .kx+ (k+3)y=3k—1 hasno
solutions is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

Question Number : 134 Question Id : 16794313849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



k #ﬂﬂﬁmmmmm (k+Dx+8y=4k , kx+(k+3)y=3k—1 FT HIs
g .

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 2

> 3

Question Number : 135 Question I1d : 16794313850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Consider the linearly independent subset S = {[1, 0, 2], [0. —1. 3]} of R*® If we enlarge this set to find a basis for R®
that contains S, then:

Options:
. % {[1,0.2]. [0.-1,-3]. [0, 2, 6]} is a basis of R®.

> % {[1.0,2].[0,-1.-3], [1,-1,-1]} is a basis of R®.
5 » {[1:0.2], [0.-1. 3], [0. 0. 1]} is a basis of k3.

4 % {[1.0,2].[0,-1.-3]. [2, 0, 4]} is a basis of R°.

Question Number : 135 Question Id ;: 16794313850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
s =g 39-3a=3 S = {{1, 0, 2], [0, -1, -3]) & R*® W fa=ER &+, 37X R &7 U AT F F

ﬁmwu@%@@m%mﬁsam%m

Options:

% {1, 0, 2], [0, -1, -3], [0, 2,6]} , R® T 3MURE
, « {01, 0, 2], [0, -1, -3], ,[1.-1.-1]} , R® T 3R

s ¢ 11, 0, 2], [0, -1, -3}, [0, O, 1]}, R? &7 AR 2



4 = 11,0 2], [0, -1, -3], [2,04]} , R® T 3T |

Question Number : 136 Question Id : 16794313851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the statement that is true for real vector space R®.

Options:

, « Every linearly independent set of R? can be enlarged to a basis of R*.

- » Every linearly independent set of R* is a basis for R*.

- » Every linearly dependent set of R? is a basis for R2.

, = Every linearly independent set of R? can be shrinked to a basis of R*.

Question Number : 136 Question Id : 16794313851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3H FUS ST 9T F{ A aEdad d%el T RPF B 5eT 2
Options:

o R & T AR REH T @ T R & T G oedien! a37 Rl ST Fehell €1

1
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Question Number : 137 Question Id : 16794313852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let A be a non-zero m X 1 matrix of rank . Then A is equivalent to [Iﬂr g] . where [,. is the identity matrix of orderr,
if

Options:

L M=n=r

s % r=m<n



58 F=nam

4 %8 r<n andr<m

Question Number : 137 Question 1d : 16794313852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FTAdF Amxn ARFT & r & & NGET 8 TT A [[) FT7ge0 e, Fe], r FH F 76
Afeem gar g, 3T

Options:
1 & M=N=r

s % r=m<n

s ® r=n<m

4% r<n3iRr<m

Question Number : 138 Question 1d : 16794313853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify a subspace of R® out of four given options.
Options:

. A plane in R* not through the origin.

g o

> » Aplanein R® not through the points (0. 0, 0) and (1, 1. 1).

- » Aplanein R® not through the points (0. 0, 0) but passing through the point (1. 1. 1).

4  Aplanein R® passing through the origin.

Question Number : 138 Question Id : 16794313853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
foT 77 = S & R? & 39 — 3a0d (HEE9H) & Tg9T 1 ¢
Options:
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Question Number : 139 Question Id : 16794313854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the polynomial which will be the characteristic polynomial of a diagonalizable matrix over the real field.

Options:
1 ® XE +1

5 % X(x* —6x+25)

5w =2+ 2x£2)

4 o X3 —3x%+2x

Question Number : 139 Question Id : 16794313854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mﬁw%wﬁﬁmm#mﬁﬁmﬁwﬁﬁwwmﬁwml

Options:
1 B x*+1

5 % X(x* —6x+25)

5w (X=2)(x*+22+2)

4 o X3 —3x%+2x

Question Number : 140 Question Id ;: 16794313855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Consider four sets of vectors A, B, C and D in R®. Out of these sets of vectors, one set is linearly independent in R3.
Identify this linearly independent set.

Options:
1 ® ‘ﬂL T {{1- G.- I]* [D‘ ]'? {}]‘ ]:D‘ {}f D]}



, & B=1{[2,-1,3].[4.2,-6],[8, 4, 12]}

- u C= 1, 3,2], [7.=2, 1], [0, 1, 1], [2, 0, O]}

4 o D={[4.1,0]. [2,5.2].[3.0, 0]}

Question Number : 140 Question Id : 16794313855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R® # 9% §H=941 % Ai&2T A, B, C 3 D N Fan #7) 3= afeel & wg=aat # v aH==d R® # 3ERae=at &7
¥ T ¢ 30 {8 Faas HH==g I Ig= Hi

Options:
, = A={1,0 1] [0, 1, 0] [0, 0, O]}
5u B =412, -1, 3], B4, 2, -6) [8, 4, 12]}

c={13 2 [ -2 1, [0, 1, 1], [2, O, 0]}

2%
i o D={[4 1, 0], [2, 5 2], [3, 0, 0]}
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Question Number : 141 Question Id : 16794313856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Consider an inconsistent system of 4 linear equations in 5 variables, such that there is atleast one variable with a non-
zero coefficient. Then, the possible smallest and largest ranks for the corresponding augmented matrix are:

Options:

, « Smallest=2, Largest=4
5 % Smallest = 1, Largest=5
- » Smallest=1, Largest=4
4 w Smallest=2, Largest=>5

Question Number : 141 Question Id : 16794313856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4 & THAFwT # 5 W I TF HATT TR 30 TR S99 # F 7 4750 0 W) R
i_'i__.UTiT:I-Té-TETETET!ﬁ%#ﬂﬁ?ﬂ@w#ﬁ?%mgdﬁaﬁiaamﬁﬁﬁﬁ: =

Options:

| THAH = 2, HgeaH = 4
,  EAH = 1, FEedH = 5
_ y THAH = 1, FgeaH = 4
, » THAH = 2, Fged# = 5

Question Number : 142 Question Id : 16794313857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Consider a 2-vector X having its initial point at the origin. Vector X is rotated counterclockwise about the origin through
an angle of 3m. Then this geometric transformation is represented by the matrix:

Options:



L e lo -1
]
.« [o ]
ool ol

Question Number : 142 Question Id : 16794313857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
vk 2-0ieer X Rem Y fowe IRiEE g 7 W 21 #ier X # 7 § @9 gU HoT 3n @ AHE w5
# gATIT ST g1 A safEde weRor 5w #ftew § sfegea g@ar g7

Options:
-1 0
1 ¢ [ 0 —1]
1 0
o 0 -1
=167
- ® L 0 1
0 -1
EE L1 0

Question Number : 143 Question Id : 16794313858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A transformation T : R? — R?first reflects points through the line x; = —x; and then provides a dilation by a factor of
3. Then. the standard matrix of T is:

Options:
3 0 ]
1 % 0 -3

o ® _(]3 —{]3]



Question Number : 143 Question Id : 16794313858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T:R? - REUga {@Tx, =
—x, F AT g3t 1 wrafdd wtar g 3R gus a1e bt 3 G uFAa grarg, @

U FOTAI0]
Options:

1 % [g —03]

Question Number : 144 Question Id : 16794313859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A linear equation in two variables ax + by = ¢ has:
Options:

, % aunique solution for a # b

- % aunique solution for a = b+t

- w» aunique solution foralla,b,c ER

4 « always has infinite many solutions

Question Number : 144 Question Id : 16794313859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar =T ax+by=c H TF &= g A @A £

Options:



a+b & T TF 3T &

a=b#c ¥ AT TF T EH

o @ a,b,c eR % [T Tk ST &

L v BHT ARAT 3=F T AT §

Question Number : 145 Question Id : 16794313860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a solution of the linear equation x —y = 4ab
Options:

| & x=(a+b? y=(a—by

-~ % Xx=11ab, y="7ab

« x=(a—b)a+b), y=a®—b(b+4a)

4 X=0a—0b, y=a+b(l—4a)

Question Number : 145 Question Id : 16794313860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 8T x —y = 4ab F T TAERET # BT F g AT 27
Options:

| x x=(@+b%y=(a—b)?

> & Xx=1laby =7ab

s % X=(a—Db)a+b),y=a>—b(b+4a)

i o x=a—by=a+ b(l1—4a)

Question Number : 146 Question Id : 16794313861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The linear equation 3x + 5y = 16 in two variables will have:

Options:



1 % no solution

-  integer-valued solution

- % unique solution

4 = Do integer-valued solution

Question Number : 146 Question Id : 16794313861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar = # @ §FeTr 3x + 5y = 16 & T aEEm:

Options:

g qUite-Hediiehd (integer-valued) g

o R & E?r

FIS qUIeh-Hedlied (integer-valued) & =gl

Question Number : 147 Question 1d : 16794313862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mr. Smith wants to buy bananas and apples worth ¥ 132. If one dozen bananas costs ¥ 36 and one dozen apples costs

T 144. Then how many pieces of each kind cannot be bought by him?
Options:
; = 4 bananas, 10 apples

- % 8 bananas. 9 apples

5 2 bananas, 12 apples

4 # 12 bananas, 8 apples
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. 57y 132 390 & For 3T g9 Tlcar 98d &) R TH AT, 36 TIF AT UF TS
O Fr aETT 144 TOF ¢ O ¥ oraar gt :ﬁ'ac-.lru CEary ﬂ-'aq:: ;-Iﬂg'a'ﬂglt;'l%fﬁ




Options:

4 Far, 10 T

. 8 e, 9 BF

il

. » 2 %, 12 89

12 e, 8 TS

Question Number : 148 Question Id : 16794313863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What should be the value of & so that the linear equation in two variables x and v, 19x + 57y = k does not have any
integer-valued solution?

Options:

1 ® 57

2_;_;/1?
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ar W x AR y F T8qF THHOT 194+ 57y =k , H & F AT 1 & & s6H Fg Oiies-Feaed
(integer-valued) g1 F&r ar?

Options:

1 = 57
> o 17
ST ] 38

g4 ® 19

Question Number : 149 Question Id : 16794313864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
A pair of linear equations in two variables x and v, a;x + by y = ¢4, a,x — b, ¥y = ¢, is inconsistent if:

Options:



% QG2 by oy
> % Gz by
a;, —by ¢
e il

5 Q2 by €5

a, —b ¢
a; b, Ca
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ar =T x AR y & {CF FAFT ax+ by =cy,a,x— b, y = ¢, F T TIA AlAdd gET, IR

Options:
a;, b o

% G2 b o
a; —-b ¢
A Tl

5 G2 by €5

a;, —-b ¢
s b, Ca
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Correct Marks: 1 Wrong Marks: 0.25
If a pair of linear equations in two variables x and v, c;x + @,y = by . b;x + ¢,y = a, has a unique solution, then by
cross multiplication method.

Options:




X V 1
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PR & I x AT y F @F TN cox+a,y =0, , bx+c,y=a,F J7H H TF 33T & ¢ af un-
U TEf % IR
Options:
¥ V 1

&

{ & bea—bey i@, —cay  ash, —azby

X Vv 1

X y -1

CEbl_a’lﬂ’E {lﬂﬂl—blbz bzﬂl_c_lc”

“=

X Vv 1

w

a,a, —cby byb, —a,e cyc,—bay
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A pair of linear equations in two variables x and ¥ will have a unique solution if the straight lines in xy - plane
representing the given linear equations will:

Options:

, = overlap each other

- u De parallel to each other

- % intersectr-axis and y-axis



4 « Intersect each other at some point
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& W x AR y F ar IBF THEROT F TR HAST T &R R xy 9 F @F FHEER0T F7 gRAte
F Frelr G @ grefr

Options:

Th-gEY T RIS

g

, THGE F FAH

2

. x X307 AR y 3787 # WA= HLe arelr

4{%%@%@-&;@?@?@?&’@?%
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Correct Marks: 1 Wrong Marks: 0.25
If the straight line L, y = mx passes through the solution of the pair of equations in two variables x and y given as,

2x + 3y = 20,5x — 2y = 12 then the angle made by L with the positive direction of x-axis is:

Options:
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3PN Bl W@ L, y=mx & 5 x 3R y % 2x+ 3y =120,5x—2y =12 & H fEmwm v g, Twe A
HHIOT & F W ISR @ df x- & P uAeHS fgu L g@nr WfFEF For gem

Options:

1, = 30’0



o & 60’0

o 450
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Correct Marks: 1 Wrong Marks: 0.25
If the sum of perimeters of two circles is 40 meters, and radius of one circle is 4 times the radius of the other circle, then
the sum of their areas is:
Options:
272

- 5. meters
1, # 11

952

8q. meters

925
— §8Q. meters

592
P ‘:.q meters
4 % 11

Question Number : 153 Question Id : 16794313868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3R &1 Fear dr IR F7 TeT 40 FHrex € AR v o7 B B g@ Iea F T ¥ 4 T I g
dr geat & &1Iwel @ FeT AT Frem?

Options:

2 9 Az

1 ® 11

22 gt Aex

2 1

2 A

z ® 11

22 g H#rex

4 ® 11
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For what values of k, and k, . the pair of equations in two variables x and v given as

5x+kyy+3=0,k,x+ 3y—2 =0 has infinite many solutions?

Options:
k_—gk_—w
1.:‘? 1 2! & 3
k_—mk_—g
T L
. T
T il i
k—gk—g
4% F 2" 10
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kAR k, S AR AT W xR y F S TH IO 5x+ k, v+ 3=0,k,x+3y—2=0 F dfFTa

F2 g g7

Options:
k_—gk_—u}

1 & 2'2 3
k_—mk_—q

% 3% 2
s ™ Bt

T halET
k—gk—g

gu T 2710

Question Number : 155 Question Id : 16794313870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
Mr. John has T 70. He wants to buy 2 items, A and B. Four units of items A cost T 12 and five units of items B cost
< 25. How many units of items A and B totaling 20 items can be bought by Mr. John?

Options:
| % ItemA:S units, Items B: 15 units



5  ltem A: 15 units, Items B: 5 units
- % ltem A: 12 units, Items B: § units

4 % ltem A: 14 units, Items B: 6 units
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& % g '70 1 3% 3 @eEt A HR B TlieAr 9Ed £ A F TR A7 @lies # oeg @ 12 #R
T B @ie & 25 T @ £ PR . Sia For 20 Wl T § A 3 A A A s e
T B @i

Options:

. x WTEST A: 5 9T, WIAEIAT B: 15 F
o o THAT A: 15 T, WEG B: 5 9T
5w GTEIT A: 12 FT, |HIAT B: 8 9T

4 THAT A 14 FT, WEE B: 6 9T

Question Number : 156 Question Id : 16794313871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A question bank consisting of 300 easy true/false questions, 200 difficult true/false questions, 500 easy multiple choice
questions and 400 difficult multiple choice questions. If a question is selected at random from the question bank, what is
the probability that it will be an easy question. given that it is a multiple choice question?

Options:

5

SO e
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U oA 4% H For 300 HHA WS T2, 200 FHisA WEATAS Fo, SODmag-ﬁaa—c»d‘rm;raﬁT
400 FfeaT Fg-fawedt Foa §1 3R Ao (59) 3R R &F & 5o F 99 foFar =mar g o swe
THEAT F4T & & 98 UF 3 g g, ¥R feam n @ B 9% vF sg-Reedt s gem?

Options:

5

O] en
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For a binomial distribution. the sum of its mean and variance for 125 trials is 124.8. The distribution is:

Options:
125—x

125 (1)1(24) 0= x=125
x\25/ \25 i

1 125—x

125 (24)1( ) 0<x<125
G 25 R

> 25

125—x

125 (ZS)X(Z) 0<x<125
& 7 S

SR ] 25

125, (2) () Losx=12s
% 25 Eaes

4 R 25
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Zfage faaRor 7 125 oroer & T 53% Arew 3K 980T #7997 124.8 § & TR &

Options:



125—x

1\* /24 |
125 (25) (E) 0< x<125

..

125—x

24\ / 1
125, (25) (E) 0<x<125
-
23 2 125—x
125, (25) (E) 0<x=125
T &
2 23 125—x
125 (25) (E) 0< x<125
4 ®

Question Number : 158 Question Id : 16794313873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
For a random variable X, if E[X] = Var (X). then probability mass function of X is given as:
Options:

. & PA=0)=" cp(l—p)"Li=01,..,n

PiX=1)—

o ¥

;8 PX=0)=pQ-p)i=123,..

|"_}_'—|u:;|2

. PUK =) == f " 202 dx, with parameters ¢ and ¢

4_5@ *..-ETJ—
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THFOERoE W X F T 3R E[X] = Var (X) § @ X & 9fag G0AT Boled 3 FF & 7
fdeTaa & see?

Options:
;ow P=0="egp"1-—p)"%i=01,.n

P(X = 1]—

o o

o x PE=D=p-p)",i=123..



(r—u)®

PX=x)=——]" e 20 dx, R p 3T o> & T™

=
V 2TT T
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If a population is infinite, the sampling is random and ¢ is the variance of the population, then the variance of the
sampling distribution of means is given by:

Options:
| ® 0F

JE
n

4 <
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R HEET FIRTAT & dF FHaeT Teos (57) § 3R o2 HEEr & T80T §, af Al A5
framor & 7 7 o s g

Options:

1 = o’
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Correct Marks: 1 Wrong Marks: 0.25

Consider nsample points for variables x and y. To fit the least squares parabola ¥ = @ + bx + ¢x? to this data, the
normal equations are:

Options:



Z”j na—l—bz:rz—i—cz:'ca,
Z}r=a2x+b2x3+c2x*
1. %

Zx =na+bZ}'2 +CZ}’3.
Z}fjnf: aZy—Fbez +.’:Z}f“‘
> ®

Zx=na+be—l—r:Z}'2,

Z}fx aZy—FthE%—cZyg
Z}-’E aZ}rz—FE}Z}ra—l—cZ}r"‘
3 ®

Z}r =na+be+ch2,

ny = LIZ:JI::—l—bZ:Jr:2 + CZ.’L’E’

szyz asz —1—be3 +£‘ZI4‘
4 <
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W x AT Y & BT n 77 g W RER #1777 =T Waed y=a+bx+cx? F3H T H
FATGITSIT A 2 HHET THIIOT §:

Options:

Zyzna-l—bz,rz —1—ch3,

| % Yy=aYx+bYx*+c)x?

Zx = na+bz_}'2 —I—CZ_"_UB.
20 o Yorth %
2 ®




Zx = na—l—ijf—l—cZ}'z.

Yr-ayy oYYy

Yr-agrriy ey
=z ®

ij=na -I—be—l—cZch.

ZXJIZHZX_FBZXE_FCZIB

ZI2}1=GZ}$2 —I—E)ZJ:E +ch“
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Correct Marks: 1 Wrong Marks: 0.25



A box of apples is inspected by examining three randomly selected apples drawn without replacement. If all the three
apples are good. the box is approved for sale. otherwise it is rejected. Find the probability that a box containing 15
apples. out of which 12 are good and 3 are bad ones. will be approved for sale.

Options:
12

44

)

10
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IeEos ¥ ¥ 39 4F Heres 8y #mmmqﬂwﬁmm@ﬁﬁﬁﬂ?mﬁwm

m%fmmﬂ?ﬁ?ﬁﬁam%aﬁmaﬁﬁﬁ#ﬁnm ST & 3T 5§ S50
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Options:

12

44

12

10
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Correct Marks: 1 Wrong Marks: 0.25
What should be filled at the places of 1, 2 and 3 to make the statement correct? For equal class-intervals, the frequency
polygon is obtained by joining the 1 of the upper sides of the adjacent 2 of the histogram by means of 3?

Options:

, = l-left corners, 2-rectangles. 3-freehand curves



-  1-middle points, 2-rectangles, 3-straight lines

- » l-middle points, 2-triangles, 3-straight lines

4 = l-right corners, 2-rectangles, 3-freehand curves
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1, 2 AT 3 # FT 9T T =TT J1feh FAF TAH FET HWel % o wmglea agsm@r
mmﬁm#mm ﬁﬁggn#é:mwﬁr Fr AT B .

Options:
| » -G F, 2-3mad, 35T T
1-Aey f4g, 2- 33, 3- v @

. 1-7eT fag, 2- Pege, 3- drefr @

, % 1-BHESIOT FT, 2- O, 3- Hlgs T%

Question Number : 163 Question Id : 16794313878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For a given series of items, if we add “a” to every item and multiply every item by “b”, then arithmetic mean of the
series:

Options:

| ® increases by ‘a’ and divided by ‘b’

5 % diminishes by ‘a’ and multiplied by ‘b’

2 % diminishes by ‘a’ and divided by ‘b’

4 « increases by ‘a’ and multiplied by b’

Question Number : 163 Question 1d : 16794313878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

grHEfEaT #ir & T R mm#mmﬁaﬂ'{ IHEAT T D" F IO
m%mm?ﬁra?% EF LG I #

Options:



| % 98 ‘@ ¥ 9T g AN b ¥ el gar &
3¢ ‘e’ HUeaT g 3N b AOT v 2
. % 9 ‘a’ §uear ¢ AN b ¥ Rfnea @ar g

I¢ ‘a’ ¥ 5gar ¢ AN b F AOT Far §
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For a moderately skewed distribution having median and mode as 132 m and 135.5 m respectively, the most probable
mean is:

Options:

1 % 131.5m

= % 129.75m
= o 130.25m

4 % 130.75m
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?IETT1§TW i ﬁ‘lF!TUT (moderaggjs:;red distribution) F BT A= 3t sgo wAU 132
Options:
131.5 #HAX

, % 129.75 #Hrex
. » 130.25 #Hrex

4, = 130.75 #ex
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Correct Marks: 1 Wrong Marks: 0.25
The curves that arise for a distribution in which frequencies decrease with significant rapidity on one side of the
maximum than on the other, are called:

Options:



, w» Extremely asymmetrical curves

- % U-shaped curves

3 « Skewed curves

4 = Symmetrical curves
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Ao & AT sc9ew 3% Sad 3fwan & 37 & oo # v 9T # dglea oS % /g FF g
g 38w o g

Options:

|« ¥Oa wEafEfae (cfafEdee) o=
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Correct Marks: 1 Wrong Marks: 0.25
In AABC, CD is the angular bisector of the angle ZACB. then CD is equal to

Options:
Zabcos (gj

2{(a+ b) C
> ® ab R [2)
(a+b) C
3 #% ab - l:2j
ab £
i oED) " P
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35T AABC # CD 0T ~ACB &, HI0I gasi=ish g af CD S gl
Options:

2abcos (gj

2(a+ b) c
> # ab 1o (Zj

(a+ b) c
3 ®% ab et {2)

ab C

,x 2a+b) @
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Correct Marks: 1 Wrong Marks: 0.25
The least positive value of x which satisfies the equation log, sinx — log,(1 +tanx) — log, (1 —tanx) = —1 is:

Options:

T
g{
|

s I
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X F w4AdGH HHT AT FIT g0 JA FHEOT log, sinx — log, (1 + tanx) — log, (1 —tanx) = —1 & FEJ"*?.'
T 8l
Options:

—IT



T
g{
|

e
%
ol
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Correct Marks: 1 Wrong Marks: 0.25
The function f(x) = cot™*Vx(x + 3) + cos™ 1/ (x? + 3x + 1) is defined on the set X, where = ?

Options:
1 ® {Grg}

= o {Df's}

4 ® ['3.'{]]

Question Number : 168 Question Id : 16794313883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el f(x) = cot™*Vx(x +3) + cos W (xZ + 3x + 1) & X % FHEeAT W g Bhar awar 8, 7@ X =

Options:
;= {03)

o W {03}

s v 0:3)

4 B [‘310}
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Correct Marks: 1 Wrong Marks: 0.25
Ifa+ B =§ and f +7y = a . then tan & equals:

Options:



; w 2(tanf +tany)

- % @anp +tany

s o tanp + 2tany

4 # 2tanf +tany
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H?Wa—l—ﬁ:g 3-ﬁ'{,8+}f=cr g, o tanag sTET &

Options:
; w 2(tanf +tany)

- % tanpf +tany

s o tanp +2tany

4 # 2tanf +tany
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Correct Marks: 1 Wrong Marks: 0.25
From the top of a light-house 60 metres high with its base at the sea-level. the angle of depression of a boat is 15°. The
distance of the boat from the foot of the light-house is:

Options:

60 (*"E_ 1) metres

V341

60 (*":EJF 1) metres

V3-—1

— 2
V3-1
c (.— ) metres
= # Wi+l

_1) metres
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TG FOE T HTUR o 3T Fehte AR @ FErs 60 Hex § HR A9 & sEsta @ 15° F A weeer
HAR & HUR TS § A9 H gl #4482

Options:

Question Number : 171 Question Id : 16794313886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of Euclid’s Postulates states that any straight line segments can be extended indefinitely in a straight line?

Options:
1 % First

> o Second

4 % Fourth and Fifth
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frrafafla & & gfFes & Fia @1 T Fear ¢ F %9 W & T3 # FORAT W Hg W H
FIIAT I FFaT 27

Options:
1 & 9HH

2 v WSHT
5 x T
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Correct Marks: 1 Wrong Marks: 0.25
In a AABC. let D, E. F be the points on lines BC, CA and AB respectively such that lines AD, BE and CF are
concurrent. If the product of lengths of BD, CE and AF is 122 cm? , then the product of lengths of DC, EA and FB will be:

Options:
; % 125cm?

> % 61 cm?
=z % 244 cm?

4+ 122 cm?
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AABC # A@ & f& D, E, F @ BC, CA 3t AB X a7 gt ¢ 3K 7¢ 5@ g ¢ f& @™ AD,
BE 3R CF ®&adl gl 3@R @@ BD, CE 3R AF & su=wa 122 cm®§, & @& DC, EA 3R FB @

USRS FT Y

Options:
1 % 125 cm?®

> % 61 cm?3

= & 244 cm?

4« 122cm?®

Question Number : 173 Question Id : 16794313888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a parallelogram ABCD., the diagonals AC and BD intersect each other at point P. If the sum of the area of AAPB and

AAPD is 137 cm?, then the sum of areas of triangles ABPC and ADPC is:
Options:

; % 180 cm?

> « 137 cm?

2 % 274 cm?

4 % 227 cm?



Question Number : 173 Question 1d : 16794313888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF AR T9i= ABCD # fasuT AC 3R BD fig P R Ts-gat # Fed € | 3FR ABPC 3R
ADPC & &1S%el & 41T 137 cm? g, & 33557 ABPC 3T ADPC & aer fregerr grem?

Options:
; % 180 cm?

5 « 137 cm?
2 % 274 cm?

4 ® 227 cm?

Question Number : 174 Question Id : 16794313889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure. RS | PQ. £CAS = 52°, ZABP = 123°, Then the angles of AABC are?

R A S
L 520 o
123°
s —
P B C Q

Options:
| & 387 52° 90°

33%, 857, B5°

325, 87°, TE°

¥
[=ls]
W |
Lo
(A 8]
[=s]
5]
LA
|
4]

Question Number : 174 Question Id : 16794313889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tw 7Tt "T # RS | PQ, «CAS = 52°, ~ABP = 123° & ar AABC & =IUT &1 892

R A S
= 52°
123°
e ]
P B C Q

Options:

. » 38°, 52° 90°
, » 33° 85°, 65°
s o 52° B7°, T1°

4 u 85°% 38°, 57°

Question Number : 175 Question Id : 16794313890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given Figure, A, B, C. D are four points on a circle. BD and AC intersect at point P such that ZPAB = 62°,
ZPBA =45° £ADB =47°, Then. which of the following is true?

18 XFY

o # P4

L @ X=P=26°
x =y =45°



Question Number : 175 Question Id : 16794313890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ffrsw BT #F A B, C, D o& 3od & a1 gt &1 BD 3 AC g P T ToH-g@¥ &1 50 aXg Feal ¢
& ~PAB = 62°, ~PBA = 45°, +ADB = 47° E’IHT%I ar ToEa H § &l 89 %"’

47°

o J'I:’=_j/

w gk = e

4% X =y =45°

Question Number : 176 Question Id : 16794313891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The number 0.43 in the form 5; where p and q are integers and q # 0. can be written as:

Options:

O

43
2.« 99

57
99

L
5

53

Question Number : 176 Question Id : 16794313891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T 0.43 5,#Wﬁ%,m“paﬂtq10ﬁ$%aﬁwqioﬁ,msﬁmﬁﬁmmmé:

Options:

O] e

Question Number : 177 Question Id : 16794313892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The number /7 when written in decimal form, results in:
Options:

, = terminating and non-recurring

- » terminating and recurring

-  non-terminating and non-recurring

4 # non-terminating and recurring

Question Number : 177 Question Id : 16794313892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

9 TEAT /7 F SAFAT & R H @ Frar § ar Far gRuns gar 87

Options:

| % EFEE FATCT A aem HR HA=A!

. w CSAFST TATT FA FTeT AR HEA

.  SUAAT AT Fel FA e (non-terminating) 3R HATIAT



x GUHCE HAT &l FTA I (non-terminating) 3R 3madf

4

Question Number : 178 Question Id : 16794313893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 3

Simplify: (625)z + (2401)s

Options:

1« 468

5 % 486

3 % 448

4 % 484

Question Number : 178 Question Id : 16794313893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AP FT: (625) + (2401)s

Options:

|« 468
. % 486
o % 448

. = 484

Question Number : 179 Question Id : 16794313894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Any positive odd integer can be written in the form:

Options:
= 3qor3g~T1or3q~ 2 where q is some non-negative integer.

5 « 69T 1loréq+3oréq+ 5, where q is some non-negative integer.
« B6gor6g—1or6q—2oré6g+3oro6qg+4or6qg—+ 3, where g is some non-negative integer.

="

4 = 6qor6q—2or6q— 4. where q is some non-negative integer.



Question Number : 179 Question 1d : 16794313894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT off UAcHS BVH O H HE TFT & @ S F@endar g7
Options:

. 3q T 3g+1 T 3q+2, FET q FF IR-FHUNHS O &

, o 8a+1 77 6q+3 IT 6q+5, e q FE A-HONAS i g

g -

6q T 6q+1 ;T 6q+2 ;T 6q+3 TT 6q+4 AT 6q+5, TET q FE IR-FKOUTcHS Yot |

- 6q TM 6q+2 IT 6g+4, FE q FS IR-FONHF Ui |

Question Number : 180 Question Id ;: 16794313895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the HCF of two numbers whose product is 1596 and .CM is 798.

Options:

Question Number : 180 Question Id : 16794313895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar wET foweT quEte 1596 3R Sgead TAEY (LCM) 798 §, 3H Feedd dAmae (HCF) 719
F

Options:

1% 3

2_5&1

3 2
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Question Number : 181 Question Id : 16794313896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a polynomial of degree 1 in one variable?

Options:
; % 2x+3yx—3

4
I
g - X
1
(—) (2x + 3x%)



3
4 B (:IE +VEJ2

Question Number : 181 Question Id : 16794313896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

rafofa # ¢ 99 @& = & Bl 1 77 g8 22

Options:
; » 2x+3yx—3

4
3x——+2
X

- R

(%) (2x + 3x%)

=
5
4 ® (_‘ijz + V{;JE

Question Number : 182 Question Id ;: 16794313897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the remainder on dividing the polynomial x* + 3x* —4x® + ax + 5 by x + 2 is — 33, then the value of a is:
Options:

-

T
b
LA

Question Number : 182 Question Id : 16794313897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR TGIE x* +3x7 —4xP+ax+5 Fx+2 F A R AT E A -33 I FAE, A o F AW AW

g7

Options:

1 % 6

2_5&8



44 7

Question Number : 183 Question Id : 16794313898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
: = . .
Ifa= (xa — %2 ) . then a* + 3a will be equal to:

Question Number : 183 Question Id : 16794313898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
—n. 3

3FWE=(XH—XH)@'HTQ + 3a & FqEY el

Options:
1

X +—3
1. ® X

Question Number : 184 Question Id : 16794313899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Zeroes of polynomial 2x® —x* — 2x + 1 are:

Options:
=
i CZT
L
=11, =
o o S 3
i mgiet
=
4 R -2.1,2

Question Number : 184 Question Id : 16794313899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tg9e 2x° —x* —2x+1 * LT g

Options:

2,2, 1
1 ® 2

1, 1,2

2o

-1, 2, —-
e
4 # _2.- 1: 2

Question Number : 185 Question 1d : 16794313900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a monomial in one variable of degree 77

Options:
L@ VIO + 1) —1)+1]

s ow (7 +1)°(0 - 1)
3 # X?—l

g4 ® X?-i‘].



Question Number : 185 Question 1d : 16794313900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR AR B 7% 5 =W &1 oF 92 &7
Options:

¢ VI + D7 - 1) +1]
5w @1 1)
T #® XT—I

4 = XT+1

Question Number : 186 Question Id : 16794313901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The area of an isosceles triangle whose unequal side is 7 cm and perimeter is 25 cm will be:

Options:

89
—+/15

. % 100

85
—n1
s % 100

875 oo
= « 100

87
—— /11
4 % 100"

Question Number : 186 Question Id : 16794313901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wmaﬁa@ﬁﬁgsrﬁmﬁrmagm? AT 3T oftfidr 25 F8HeT &, 35 S9% F47 gEm?
Options:

89
—+/15
, % 100"

85
ﬁm

[
5



875

5 o wor

87
P

A
4% 100"

Question Number : 187 Question Id : 16794313902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The area of a quadrilateral ABCD with BC =26 cm, CD =9 cm, AC = 28 cm, perimeter of AABC = 84 cm, perimeter
of AADC = 72 cm, will be:

Options:
| « 424.18 cm?

o B 786 II:IH2
z ® 367 IZ:]Ti2

4 % 876 cm?

Question Number : 187 Question Id : 16794313902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF T98S ABCD 5@ BC = 26 &, CD = 9 #@dHET, AC = 28 HEHRET 31T AABC #r
rrﬁﬁ#ra:&@ﬁ:ﬂaaﬁwmnc qﬁmﬁrmma%mawmwgﬁw

Options:

v 424.18 T TEHRT
5 % 786 T WEHET
- = 867 9 WY
4 % 876 T TrHRET

Question Number : 188 Question 1d : 16794313903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of surface area to volume of a cuboid will be:
Options:

1 % Twice the sum of sides of the cuboid.



> % Half the sum of sides of the cuboid.

=  Iwice the sum of reciprocals of the sides of the cuboid.

4 = Halfthe sum of reciprocals of the sides of the cuboid.

Question Number : 188 Question Id : 16794313903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & WA & 3 HTIAS FT AT g
Options:

. TS FT ST F TR H G

. TTST FT ST F TR FT T
Sfmﬁﬁragmﬁa:wamﬂmaﬂml

. TITST FT ST F GRAT & AT HT AT

Question Number : 189 Question Id ;: 16794313904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If lateral surface area of a right circular cone with radius 5 cm is 37 ™ cm?, then the total surface area of the cone is:

Options:
1 ® 62 sz

o B2 T[C]Tiz
= ® 42 sz

4 B 42 "I'[l:II‘i2

Question Number : 189 Question Id : 16794313904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5 BT @1 Bswr Sl §H el UF F 99 HAg 86 371 T HAAK §, aF OF F Fol HAg
SS%el FIT Br?

Options:



| % 62 T FEfeR
. » 62 T T TéHET
5 % 42 T WA
4 % 42 7 T g

Question Number : 190 Question Id : 16794313905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Consider a frustum of a right circular cone such that the product and sum of radii of lower and upper base are 10 cm and
7 cm respectively. If the slant height of the frustum 1s 21 cm then the volume of the frustum is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, 888 cm?
> 588 cm?®
= B85 cm?®

4 849 cm®

Question Number : 190 Question Id : 16794313905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF V] H e OF & s (BreH) W AR w5 & sudr Aeel i sl Remet @ o
3T IWT FAH 10 T i 7 EEART @ R Oeae FT O FEE 21 §8ART & a Oedw &
HTIT &7 gIe?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1 888 cm?
> 588 cm?®
- 885 cm?®

4 849 cm?®

Sub-Section Number: 2



Sub-Section Id: 167943874
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 16794313906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option from the following.

Development and behavior of individuals is by and large influenced by:
Options:
1 % Genetics

~ % Circumstances
= % Genetics and circumstances

4 « Interplay of genetics and circumstances

Question Number : 191 Question Id : 16794313906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ffofea & wea sugsa faweT =1
afFaar & B #X T9ER 57 vR ¥ welEg e &

Options:

.« SR st aRfRufEt

4_Jm§éﬁ£r3ﬂrqmﬁﬁa:rm:w

Question Number : 192 Question Id : 16794313907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One of the distinctive features of distance education is that it;
Options:

| « Is non-contiguous

- % Has no curriculum



- w Uses only the printed media

4 % Selective about enrolments

Question Number : 192 Question 1d : 16794313907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oxey fRew & faftre fAwast # @ = @ & & o=
Options:

| v TR

o w PIS UISTHHA FEl &

A ool Hied ST FT 39UT FLaT §

ATHTFRA & TN A FiAar

4 ®

Question Number : 193 Question Id : 16794313908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Motivational levels and abilities can be identified by awareness of which of the following?

Options:
. % Clinical psychology

-  Educational psychology

- = Social psychology

4 w Experimental psychology

Question Number : 193 Question Id : 16794313908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fafofea & ¥ B0 & ) § JEwedl ¥ W TaT 3R STHAT3T 1 9gae H J1 Thal 87

Options:

| % eI FAATSA

o AETF FATEAT



l A
3 % HHATAS HAANSAA

4 % SRR #@SRTEAT

Question Number : 194 Question Id : 16794313909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of mathematics and logic is categorized under which of the following?

Options:
, » Computer science

- % Nafural science
= « Formal science

Physical science

o
5

Question Number : 194 Question Id : 16794313909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 3t 7% F7 seTaw e & @ e & ggd ooffea 22

Options:

= =
. =dos [dalad
= O,

. STpfas &=

- v A T

4 » Sifdes T=e

Question Number : 195 Question Id : 16794313910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the sentence with the most appropriate option from the following.

In the Devadasi system young girls are:
Options:
; w Dedicated to the temples in the name of their families



> % Offered to fire in name of Gods and Goddesses
z % Offered to fire in the name of their families

4 « Dedicated to temples in the name of Gods and Goddesses

Question Number : 195 Question Id : 16794313910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fefof@a & w90 s9gFa Aweq & @ a3 &t 9 &

SEETET JUTell # T wisfeha g
Options:

% IS IRERT & A9 X @3t #7 guEig
. w STTETE AR & F AT 9 HWET Fr qem &
5 % HIA INERT & AW 9T AET FHr T2 S

. v ST 3R SRt F A W AR w gy

Question Number : 196 Question Id : 16794313911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a part of Pedagogical Content Knowledge?
Options:

, » Knowledge of learners and their characteristic

-  Knowledge of teachers® competencies

- » Knowledge of educational contexts

4 = Knowledge of educational purposes

Question Number : 196 Question Id : 16794313911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

foafafeg & § Fi7 a7 MfFF = 7= F Trar 76 &2

Options:



, » TRenfiar sk = RRvar &= A=
-  TRBTERT HT FETATIHT FT AAH
.« AWF Tt = AA

4 = a0 32T F A

Question Number : 197 Question Id : 16794313912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When a mathematics teacher reads aloud and discusses the meaning of an equation, what is he/she helping the students
do?

Options:

, = Remember mathematical symbols

5 w Write mathematical equations

- = Speak in the mathematical language

,  Read and comprehend mathematical language

Question Number : 197 Question Id : 16794313912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T 0T et F F 92ar g 3t g0 F 3y o7 ==T a1 £, af 3 o7 &Y F4r "#eg W
W@ 82

Options:
o w FOIET FHEROT ol
S » TOIET ST H Srer

. FIOET ST & 9 3R wAs

Question Number : 198 Question Id : 16794313913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the best option from the following.

A unique feature of including art in education is that it develops in children the ability to:
Options:
| « Communicate symbolically

-~ » Read and comprehend texts

= % Follow instructions

4 = Guide their peers

Question Number : 198 Question Id : 16794313913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ¥ g9y 3= [9%e9 fi__‘ufil

freT & For FAT v IS AT 77 § T I7 s=a & arwar R a1 g

Options:

| v TAHICHS T F TIE B
. » T F 9E AR TEE
_ y THGRIT T ST B

, » 3 WY Fr AEs e

Question Number : 199 Question Id : 16794313914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the best response from the options below.

Experimentation can be defined as:
Options:
1 % Process of observation of demonstrations

- % Process of observation without control

= « Process of observation under controlled conditions



4 % Process of observation of nature

Question Number : 199 Question Id : 16794313914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A fow T Reeat & we =0T giatear I+

YT H ST YRR TG BT ST @ g
Options:

|« YEAl & T HI TlehaT

o w AT & T et o ghhar

- v AT TRATr & Tgd Haelien T Fishdr

. » TEPA F e H FAfHaT

Question Number : 200 Question Id : 16794313915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option to complete the sentence.

Inclusive enviromment stems from:

Options:
. w Student participation

Appropriate infrastructure

z % Commitment from teachers

4 « Pairing of philosophy and pedagogical practices

Question Number : 200 Question 1d : 16794313915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

THT H W A & o0 T98 39gFd Fhed 41

AT SaEIoT ¥ 39T 8

Options:



| % O e

| 3T T HTA

5 % 8T H gidesdr
. v & 3R e gaurst & S



